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TAULA DE FUNCIONS PRIMITIVES

Formes elementals

��

∫
xn dx =

xn+1

n+ 1
+ C ��� n �= −1�

��

∫
(f(x))nf ′(x) dx =

(f(x))n+1

n+ 1
+ C ��� n �= −1�

��

∫
dx

x
= ln |x|+ C

	�

∫
f ′(x)
f(x)

dx = ln |f(x)|+ C


�

∫
ex dx = ex + C

��

∫
ax dx =

ax

ln a
+ C

��

∫
sin x dx = −cos x+ C


�

∫
cosx dx = sin x+ C

��

∫
tan x dx = −ln | cos x|+ C

���

∫
dx√

a2 − x2
= arcsin

x

a
+ C

���

∫
dx

a2 + x2
=

1

a
arctan

x

a
+ C

���

∫
dx

sin ax
=

1

a
ln
∣∣∣tan ax

2

∣∣∣+ C

���

∫
dx

cos ax
=

1

a
ln

∣∣∣∣ 1

cos ax
+ tan ax

∣∣∣∣+ C

�	�

∫
dx

sin2 ax
=

−1

a tan ax
+ C

�
�

∫
dx

cos2 ax
=

1

a
tan ax+ C

���

∫
arcsin ax dx = x arcsin ax+

1

a

√
1− a2x2 + C

���

∫
arccos ax dx = x arccos ax− 1

a

√
1− a2x2 + C

�
�

∫
arctan ax dx = x arctan ax− 1

2a
ln(1 + a2x2) + C



�
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. . .

Formes trigonomètriques

���

∫
sin2 ax dx =

x

2
− sin 2ax

4a
+ C

���

∫
cos2 ax dx =

x

2
+

sin 2ax

4a
+ C

���

∫
tan2 ax dx =

1

a
tan ax− x+ C

���

∫
sin ax cos bx dx = −cos(a+ b)x

2(a+ b)
− cos(a− b)x

2(a− b)
+ C ��� a2 �= b2	

�
�

∫
sin ax sin bx dx =

sin(a− b)x

2(a− b)
− sin(a+ b)x

2(a+ b)
+ C ��� a2 �= b2	

���

∫
cos ax cos bx dx =

sin(a− b)x

2(a− b)
+

sin(a+ b)x

2(a+ b)
+ C ��� a2 �= b2	

���

∫
sin ax cos ax dx = −cos 2ax

4a
+ C =

sin2 ax

2a
+ C ′ = −cos2 ax

2a
+ C ′′

�
�

∫
sinn ax dx =

−sinn−1 ax cos ax

na
+

n− 1

n

∫
sinn−2 ax dx

���

∫
cosn ax dx =

cosn−1 ax sin ax

na
+

n− 1

n

∫
cosn−2 ax dx

���

∫
x sin ax dx =

1

a2
sin ax− x

a
cos ax+ C

���

∫
x cos ax dx =

1

a2
cos ax+

x

a
sin ax+ C


��

∫
xn sin ax dx = −xn

a
cos ax+

n

a

∫
xn−1 cos ax dx


��

∫
xn cos ax dx =

xn

a
sin ax− n

a

∫
xn−1 sin ax dx


��

∫
sinn ax cosm ax dx = −sinn−1 ax cosm+1 ax

a(m+ n)
+

n− 1

m+ n

∫
sinn−2 ax cosm ax dx

��� m+ n �= 0	



�

∫
sinn ax cosm ax dx =

sinn+1 ax cosm−1 ax

a(m+ n)
+

m− 1

m+ n

∫
sinn ax cosm−2 ax dx

��� m+ n �= 0	


��

∫
tann ax dx =

tann−1 ax

a(n− 1)
−

∫
tann−2 ax dx ��� n �= 1	


��

∫
1

tann ax
dx = − 1

a(n− 1) tann−1 ax
−

∫
1

tann−2 ax
dx ��� n �= 1	



�
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Formes que inclouen exponencials i logaritmes

���

∫
xeax dx =

eax

a2
(ax− 1) + C

���

∫
xneax dx =

1

a
xneax − n

a

∫
xn−1eax dx

���

∫
eax sin bx dx =

eax

a2 + b2
(a sin bx− b cos bx) + C

���

∫
eax cos bx dx =

eax

a2 + b2
(a cos bx+ b sin bx) + C

���

∫
ln ax dx = x ln ax− x+ C

�	�

∫
xn ln ax dx =

xn+1

n+ 1
ln ax− xn+1

(n+ 1)2
+ C 
�� n �= −1


���

∫
ln ax

x
dx =

1

2
(ln ax)2 + C

Formes hiperbòliques

���

∫
sinh ax dx =

1

a
cosh ax+ C

���

∫
cosh ax dx =

1

a
sinh ax+ C

���

∫
tanh ax dx =

1

a
ln(cosh ax) + C

���

∫
sinh2 ax dx =

sinh 2ax

4a
− x

2
+ C

���

∫
cosh2 ax dx =

sinh 2ax

4a
+

x

2
+ C

���

∫
1

sinh ax
dx =

1

a
ln
∣∣∣tanh ax

2

∣∣∣+ C

���

∫
1

cosh ax
dx =

1

a
arcsin(tanh ax) + C

���

∫
1

sinh2 ax
dx =

−1

arctgh ax
+ C

�	�

∫
1

cosh2 ax
dx =

1

a
tanh ax+ C



�
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Formes que inclouen
√
x2 +− a2

���

∫ √
x2 +− a2 dx =

x

a

√
x2 +− a2 +−

a2

2
ln
∣∣∣x+

√
x2 +− a2

∣∣∣+ C

���

∫
dx√

x2 +− a2
= ln

∣∣∣x+
√
x2 +− a2

∣∣∣+ C

���

∫ √
x2 + a2

x
dx =

√
x2 + a2 − a ln

∣∣∣∣∣
a+

√
x2 + a2

x

∣∣∣∣∣+ C

���

∫ √
x2 − a2

x
dx =

√
x2 − a2 − a arcsec

∣∣∣x
a

∣∣∣+ C

���

∫
dx

x
√
x2 + a2

= −1

a
ln

∣∣∣∣∣
a+

√
x2 + a2

x

∣∣∣∣∣+ C

���

∫
dx

x
√
x2 − a2

=
1

a
arcsec

∣∣∣x
a

∣∣∣+ C =
1

a
arccos

∣∣∣a
x

∣∣∣+ C ′

���

∫
x2
√
x2 +− a2 dx =

x

8
(2x2 +− a2)

√
x2 +− a2 − a4

8
ln
∣∣∣x+

√
x2 +− a2

∣∣∣+ C

�	�

∫
x2

√
x2 +− a2

dx =
x

2

√
x2 +− a2 −+ a2

2
ln
∣∣∣x+

√
x2 +− a2

∣∣∣+ C

�
�

∫
dx

x2
√
x2 +− a2

= −+
√
x2 +− a2

a2x
+ C

���

∫ √
x2 +− a2

x2
dx = −

√
x2 +− a2

x
+ ln

∣∣∣x+
√
x2 +− a2

∣∣∣+ C

Formes que inclouen
√
a2 − x2

���

∫ √
a2 − x2 dx =

x

a

√
a2 − x2 +

a2

2
arcsin

x

a
+ C

���

∫
x2
√
a2 − x2 dx =

a4

8
arcsin

x

a
− 1

8
x
√
a2 − x2(a2 − 2x2) + C

���

∫ √
a2 − x2

x
dx =

√
a2 − x2 − a ln

∣∣∣∣a+
√
a2 − x2

x

∣∣∣∣+ C

���

∫ √
a2 − x2

x2
dx = −

√
a2 − x2

x
− arcsin

x

a
+ C

���

∫
x2

√
a2 − x2

dx =
a2

2
arcsin

x

a
− 1

2
x
√
a2 − x2 + C

���

∫
1

x
√
a2 − x2

dx = −1

a
ln

∣∣∣∣a+
√
a2 − x2

x

∣∣∣∣+ C

���

∫
1

x2
√
a2 − x2

dx = −
√
a2 − x2

a2x
+ C



�

. . .

Formes que inclouen ax+ b o bé
√
ax+ b

���

∫
x(ax+ b)n dx =

(ax+ b)n+1

a2

(
ax+ b

n+ 2
− b

n+ 1

)
+ C ��� n �= −1,−2�

	
�

∫
x

ax+ b
dx =

x

a
− b

a2
ln |ax+ b|+ C

	��

∫
x

(ax+ b)2
dx =

1

a2

(
ln |ax+ b|+ b

ax+ b

)
+ C

	��

∫
(
√
ax+ b)n dx =

2

a

(
√
ax+ b)n+2

n+ 2
+ C ��� n �= −2�

	
�

∫ √
ax+ b

x
dx = 2

√
ax+ b+ b

∫
1

x
√
ax+ b

dx

	��

∫
1

x
√
ax+ b

dx =
2√−b

arctan

√
ax+ b

−b
+ C ��� b < 0�

	��

∫
1

x
√
ax+ b

dx =
1√
b
ln

∣∣∣∣∣
√
ax+ b−√

b√
ax+ b+

√
b

∣∣∣∣∣+ C ��� b > 0�


